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Question ID : G3DGE03303AG
Option 1 ID : GADGEENTZA5056
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Option 3 ID : G3NGENFASN5E
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Status : AnEwered
Chosen Option: 1
Marks :
0.5 refter usneff arerama fRrumareff areara Tuiar dae aivg R siear.
T HEd cherelt #ft heft fes?
Ang o 1. T AGd dhotel] A fIRUIR AT
X 2. it foaRoTR ATEY Rt Had dhetetl!
< 3. gt Tad dhotelt HY fag=ar agd wre
< 4. I Aed Fotent HI fORORUIR 3178 ah1?
Question Type : KMCQ
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Status : Answered
Chosen Option : &
Marks : &
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Status : AnEwered
Chosen Option : 1
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Section : English Language

0.1 Select the most appropriate symormm of the underdined word.
Tha architect paid meticulous attention o every detail of the building design,

Ane 1. thorough
X 2. careless
/< 3.inattentive

/X 4. chaotic

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

Status :

Chosen Option :

Marks :

MCQ
GANGB0ZTTOAS
63D6E0T0801 39
EADGE0T0E0 37
EIDGS0T 0807 40
EI0GE07 0807 28

0.2 Select the most appropriate option te Al in the blank

He wag kit by hig father's death.

Ans X 1. quickly
< 2. loudly

o 3. hard
X 4. sourly

Option 1 ID
Option 2 ID

Question Type :
Question ID :

: GADGENT MERIY
: GANGE0THSH3E
Option 31D :
Option 41D :
Status :

Chosen Option :
Marks :

KCO
EADGE0ZTAEIT

6306801065835
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0.2 Select the most appropriste ANTONYM of the ghven wand.

Retaliate
Anz X 1. Crawl
X 2. Reject
X 3. Validate
o 4. Forgive
Question Type : WG
Question ID : GI0GE0ZTASI0
Option 1 ID : G3NGE0TDEEET2
Option 2 ID : 63DGBITDGEET]
Option 3 ID : BADGENDEEETS
Option 4 ID : GINGENTGEATI
Status : Anewered
Chosen Option : &
Marks : O
0.4 Select the option with the comect punctuation mark for the given sentence,
He asked me what my name was
Ans X 1. He asked me what my name was?
/5 2. He asked me, what my name was.
/X 3. He asked me; what my name was?
% 4. He asked me what my name was.
Question Type : KICO
Question ID : BADGE0ZTATI4
Option 11D : EADGENT DEEEET
Option 2 ID : BINGENTMSHEE
Option 3 ID : B3NGENTES6ET
Option 4 ID : EANGEENTDESE20
Status : Angwered
Chosen Option : &
Marks : ¥
Q.5 Select the option that expresses the given sentence in passive voloe,
Peaple are destroying large areas of forest every day,
Ans X 1. Large areas of forest are destroyed every day.
o 2. Large areas of forest are being destroyed every day.
/X 3. Large areas of forest have been destroyed everyday
/< 4. Everyday large areas of forest are destroyed.
Question Type : MG
Question ID : GADGENETAT1F
Option 1 ID : G3DGENTIGTIE]
Option 2 ID : GIDEENTDETIEZ
Option 3 ID : EADGEID&TIED
Option 4 ID : EADGEETITE
Status : Anewered
Chosen Option: 2
Marks :




Q.6 Select the most appropriste artichs to fill in the blank. If no articls is required, select Mo

| hired taxi to go to Delhi for my infendes,
Ans X 1.No article
< 2.an
w3 a
X 4.the
Question Type : KICO
Question ID : EIDGR0IZTAITE
Option 1 ID : GADGEIEEE2E
Option 2 ID : BINGENT4HS6ES
Option 3 ID : 630GENT0656Z3
Option 4 ID : GIDGEENTDE5625
Status : Angswered
Chosen Option : &
Marks : &
0.7 Pars of the given sentence have been underlined. One of them containg an eror, The
underlined parts are ghven ag options with some changes. Select the option that comectly
rectifies the emor,
These ane the children wha ane being irained by their ieachens 1o making their cwn kites and
iy them fior the local champlonship.
Ans X 1. These are being the children
25 2. fly these them
#< 3. are training
## 4. make their own kites
Question Type : KCQ
Question ID : EIDGEIZTOTID
Option 1 ID : GADGEITDGZIEZ
Option 2 ID : EADGENTNSEIAS
Option 3 ID : 630GENT0SEIET
Option 4 ID : G30GE0105Z384.
Status : Answered
Chosen Option : &
Marks : ¥




1.8 Select the most appropriate question tag to fill in the biank.

Let's play football, __7
Ang o 1. shall we

X 2.may we
X 3.can'twe
X 4. aren't we
Question Type : WG
Question ID : BIDGENZFOTE4
Option 1 ID : GANGE0T0EZ205
Option 2 ID : 63DGB0105Z202
Option 3 ID : GANGENTDGZ204
Option 4 ID : G3NGENGEOT
Status : AnEwered
Chosen Option: 1
Marks : Z
0.9 Select the moset appropriate option to fill inthe biank.
| have _______ books,
Ans X 1.each
» 2. some
< 3. little
X 4. any
Question Type : KICO
Question ID : 63DGB0ZTAZ2S
Option 11D : EADGENM4EE14
Option 2 ID : BI0GENT 45871
Option 3 ID : 630GENT065E13
Option 4 ID : EANDGENTDE5AT2
Status : AngwiEred
Chosen Option :
Marks : &
.10 Select the most appropriate question tag to fill in the biank.
Jenry hasn't met Geongeyet, 7
Ans X 1.does she
X 2. hasn't she
## 3. has she
75 4. shall she
Question Type : MG
Question ID : GANDGEIEFITS
Option 1 ID : B306ENT0EGEISE
Option 2 ID : 306801052359
Option 3 ID : EADGENDSZIED
Option 4 ID : E30EEN DEFIET
Status : Anewered
Chosen Option : &
Marks : Z




.11 Paris of the follewing sentence have been given as options. Select the option that contains

BN BT

The crganisation is dedicated in offering excellent customer service and cutting-edge
technologles.

Ans X 1.The organisation is
25 2. and cutting-edge technologies
X 3. excellent customer service

% 4. dedicated in offering

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

KCO
EADGRDZT 26
EABGS0T 0A00&1
EIOGE0T DB0064
BIOGE0T 0A0063
6306801040062

0,12 Select the option that cormectly rectifies the spelling error in the ghiven sentence.
The governmaent has taken strict measures o prevent hurman traffiking.

Ans X 1. governament
7< 2. measaures
«# 3. trafficking
X 4. prevant

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

MCQ
BANGB0ZTASTE
GADG6E0T G699
G3DG6E0T 06500
GIDGA0T DEEA02
BADGENT HEE0

0,13 Select the most appropriate preposition to fill in the blank.

My friend Is desirous
Ans X 1.to

X 2. for

" 3. of
X 4.in

vigiting Bhutan.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

MCO
EADGRDZTOTTA
EIDGSIT DSZ2E0
EI0GE0T05Z2T
6I06E0T05Z2TH
G3D6E0T05Z2E1




.14 The given semtence has an error, Select the option which rectifies the sentence.
One of the students in the class have qualified the 33C examinaticn,

Ans X 1.intheclass
% 2. have qualified
/< 3. the SSC examination
#< 4. 0One of the students

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

MCO
EADEB0ZTAN0D
EIDGE0T 080T
EANGE0T 080771
6I06E01 080772
EAD6EDTDE0TED

.15 Complete the following conversation using the most suitable option,

Thae dary was bot and sunny and | was lying in the front yard an my back when my mother

called me ta have something to eat.
Ans X 1.Come.., my darling. and take a piece of cake or two

/5 2. Come! my darling, and take a piece of cake or two.
% 3. “Come, my darling, and take a piece of cake or two.”

5 4. “Come my darling!! and take a piece of cake or two.”

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCO
EIDEB0ZTATIN
EADEBOTDETIST
BINBE0TD4HTISS
BIDEE0T106TISE
G306 DGTISE
Answered

4

L]

(.16 Select the INCORRECTLY spelt word in the following sentence,

Thae injuned may proceede immediately 1o the emengency station, the sttendant said.
Ans X 1.injured
X 2. emergency
w# 3. proceede
/< 4. attendant

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

MG

BANGE0Z52MIE
GADGB0IFET1E11
GADEBI9ET1ETE
GADGB0SETE12
EADGE0GETET4




0,17 Select the most appropriate meaning of the given proearh,
Birds of a feather flock together.

Amns o 1. People with similar nature seek out each other’s company.
#< 2. The more you know, the more powerful you can be.
25 3. People who take risks are more successful than people who don't.

X 4. 1f you are patient, good things can happen.

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MECL)
BINGE0ZT45H2
6306801066830
EIDGE0TDEEEL2
GADGE0TDEERLD
GADGE0TGERLT
Anawered

1

0.18 Select the most appropriate verb to il in the blank.

Ewerybiody
Ans 4 1. was surprised

/5 2. did surprise
X 3. surprised
25 4.is surprised

when he amved on time.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCO
EADGRIZTIEIE
EIDESIT 0562411
EI0GE0T 052412
6I06E0T052413
G3D6E0T 052410
Answired

1

2

.19 Select the most appropriate present tense verb form to fill in the blank.

Ifit __, my studerts shall get wet.
Ans X 1. will rains

#< 2. will be raining

...f3. rains

75 4. will rain

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

MGG
BIDGEDZTOTE4
EADGE0TDEZ2 44
E306E01052243
GADGE0NDST245
EADEE0TDSE242
Anawered

2
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0.0 Select the most appropriate meaning of the given idiom,

Cince in & blue moon
Ans X 1. Frequently

o 2. Rarely
< 3. Customary
X 4. Gross

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MECL)
BINGE0ZTAN
306801065718
EIDGE0DESTIE
GADEB0TDEETTT
BADGE0TDEETIE
Anawered

z

2

Q.21 The following semtence has been split into four segmentz. Idantifty the gegment that contains

N BT,

You could see the doctor J today bt a5 you haver't £ got an appaintrment i would mean /

wialt for a couple of hours.
Ans X 1. got an appointment it would mean

Z5 2. You could see the doctor
% 3. wait for a couple of hours

< 4.today but as you haven't

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

MCOQ

EADGE02E2R]0
EINES0GET BAT
EANGE0SET 579
BANGE09E1 580
630680981 582

0.22 Select the most appropriate meaning of the given proverh,

Mo rman i an island
Ans X 1. One cannot predict future.
w#" 2. No one is truly capable of living alone.
/X 3. Women are islands.

/X 4. 1tis important to work.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

MECQ
BADGE0ZMELT
GAD6E0T 62473
6306801052470
GIDGE0T 052472
BIDGENT 062471




0.23 Select the most appropriate opfion to fill in the Blank. If no article is requined, select Mo

Humeraus theories have been proposed o explain mature of coneciousness,
Ans X 1.Noarticle
X 2a
" 3. the
X 4.an
Question Type : KICO
Question ID : EADGEI2E2107
Option 11D : E3DGENSTA410
Option 2 ID : B3NGE0STAM0T
Option 3 ID : G30GE09T405
Option 4 ID : GIDGE09TE40E
Status : Angwered
Chosen Option : &
Marks : &
0.24 Select the most appropriate synomym of the given wond,
Dingy
Ans X 1. Pure
75 2. Bright
o 3. Dreary
X 4. Sterile
Question Type : MG
Question ID : GADGE0ETAE1TF
Option 1 ID : 6306E0TMM5EZ
Option 2 ID : 63DGBI1DG57ED
Option 3 ID : BADGRID&GETTS
Option 4 ID : B30GEN MESTET
Status : AnEwered
Chosen Option: 1
Marks : It
0.25 Select the option that expresss=s the given sentence in pas=ive volce,
My friends were taking me fo the thestre.
Ans X 1.1 was taken to the theatre by my friends
% 2. | was being taken to the theatre by my friends
75 3. The theatre | was being taken by my friends
/5 4. To the theatre | was taken by my friends
Question Type : KCQ
Question ID : EIDGE0ZE20ET
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